
Illustration/Example of Spivak Chapter 3, Problem 6(b)

In[25]:= x1 = 2;
x2 = 5;
x3 = 7;
x4 = 10;

In[29]:= f4[x_] :=
(x - x1) (x - x2) (x - x3)

(x4 - x1) (x4 - x2) (x4 - x3)

In[30]:= Plot[f4[x], {x, 0, 12}]
Out[30]=
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In[31]:= f3[x_] :=
(x - x1) (x - x2) (x - x4)

(x3 - x1) (x3 - x2) (x3 - x4)

In[32]:= Plot[f3[x], {x, 0, 12}]
Out[32]=
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In[33]:= f2[x_] :=
(x - x1) (x - x3) (x - x4)

(x2 - x1) (x2 - x3) (x2 - x4)



In[34]:= Plot[f2[x], {x, 0, 12}]
Out[34]=
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In[35]:= f1[x_] :=
(x - x2) (x - x3) (x - x4)

(x1 - x2) (x1 - x3) (x1 - x4)

In[36]:= Plot[f1[x], {x, 0, 12}]
Out[36]=
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In[37]:= g[x_] := 8 f1[x] + 6 f2[x] + 4 f3[x] + 2 f4[x]
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In[38]:= Show[Graphics[Style[Point[{{2, 8}, {5, 6}, {7, 4}, {10, 2}}], PointSize[0.02]]],
Plot[g[x], {x, 0, 12}]]

Out[38]=

In[39]:=
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In[40]:=

In[41]:=
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